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Question 1.Select the related word/letters/number from the given alternatives.
R M et & & Fafad 2rea/31eRY~TEaT B gAT
FUNGI: MYCOLOGY:: TISSUE: ??

PPN BIP fasm - Fae: 2
Options:

1) Haematology

TAfae

2) Cytology

BIfPBIAT

3) Histology

FdbaTH

4) Bacteriology

Correct Answer: Histology

Candidate Answer: Histology

EZEACSICE

Question 2.Select the related word/letters/number from the given alternatives.
R M faepedt & & Fafad 2rea/31eRY~IEaT B gfg

BDFH : YWUS :: JLNP : ?

Options:

1) QOMK

2) ACEF

3) ZXUT

4) UVWX
Correct Answer: QOMK
Candidate Answer: QOMK

Question 3.Select the related word/letters/number from the given alternatives.
R M et § & Fafad 2rea/31eRY~T@T B gfATI

18:30::36:?

Options:

1)78

2) 64

3) 66

4) 68
Correct Answer: 66
Candidate Answer: 66

Question 4.
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For the following questions

Find out the odd word/letters/number pair from the given alternatives

g 7T faepedt # & foww eree/ a1/ s1aR/g™ gAT
Options:

1) Arithmetic

EcaicH

2) Mathematics

Tfora

3) Geometry

SaTfeet

4) Algebra

disrforg

Correct Answer: Mathematics

Tfora

Candidate Answer: Mathematics

Tfora

Question 5.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

Tow g ferepedt o & farvm 2ree/ HA/ 31aR/g™ AT

Options:
1) ACEG

2) BDFG
3) ILNP

4) SUWY
Correct Answer: BDFG
Candidate Answer: BDFG

Question 6.

For the following questions

Find out the odd word/letters/number pair from the given alternatives

1o g fereperdl & fawm 2ree/ Hd1/ 316R/g™ T

Options:
1) 16, 32

2) 20, 40
3) 64, 81

4) 81,162
Correct Answer: 64, 81
Candidate Answer: 64, 81

Question 7.Arrange the following words as per order in the dictionary

FAfafET ereal BT 2regemrer # &g MY %W & 1R fafEg
1. Weather 2. Weasand 3. Wealth 4. Weapon 5. Weekend
Options:

1)3.24,15
2)32,145
3)34215

4)3,4,1,2,5
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Correct Answer: 3,4,2,1,5
Candidate Answer: 3,4,2.1,5

Question 8.Choose the correct alternative from the given ones that will complete the series

g g et ¥ 3 a8 & e IR S 35357 B R
BFK, KOT, UYD,?

Options:

1) BFJ

2) ADG

3)FIO

4) PSX
Correct Answer: FJO
Candidate Answer: FJO

Question 9.Find the missing number in the series

QT Joft ¥ & G & AT BISRY |
2,3,8,2, 112,565

Options:

1) 565

2) 112

3)27

4)8
Correct Answer: 27
Candidate Answer: 27

Question 10.A woman pointing to a man said, "He is the widower of my uncle's brother's daughter." How is the man related to the woman?

b Higell Ueb 3TTCHT W 3R S2ART BYd §Y Ped ¢ 1o "G WY <A &b TS bl 9t T LR 21 I8 3TeHT 39 37Rd I by TR gaf=ia 8 2

Options:
1) Brother-in-law

TEg

2) Brother

LIES

3) Uncle

EICI

4) Nephew

HIASIT/MTST

Correct Answer: Brother-in-law
CESIES

Candidate Answer: Brother-in-law

S

Question 11.P, Q, R and S are four friends. P is shorter than Q but taller than R who is shorter than S. Who is the shortest among all?

PQR,IRS TR AT &I daE N PQ A BT e AfeT RAFAT R SN S A BIeT &1 370 TIA BT BH & 2

Options:
1P

2)Q
3)R

4)S
Correct Answer: R
Candidate Answer: R

Question 12.From the given alternative words, select the word which cannot be formed using the letter of the given word.

FAfeifad faeed § & a8 2rea gAY =it ey TV 2re 3 A&RT BT TR BXebs Tel ST ST Febell|
IMPRACTICABLE

Options:

1) CAPABLE

2) PARTICLE
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3) PRACTICAL
4) PEACE

Correct Answer: PEACE
Candidate Answer: PEACE

Question 13.If BROTHER is coded as GWTYMJW, then SCHOOL is coded as

fE e BIg § 'BROTHER' Bl 'GWTYMIW ' feaT SiTaT &, aY 39 1S ¥ 'SCHOOL' &l aRIT fiT ST 2

Options:
1) WGLSSP

2) WGLSSQ
3) XHMTTQ

4) XHMTTP
Correct Answer: XHMTTQ
Candidate Answer: XHMTTQ

Question 14.If '+' means subtraction, '+' means addition, '<' means multiplication and ">' means division, then find the value of the given statement,
The value of 9 + 7 <8 > (4>2) + 5 will be

IfE '+ BT A & T, '+ BT 7ded & SiTg, '<! &1 Aaed & O 3R > BT Adeld & 1T, a1 39 aaaed BT 717 1d P |
9+7<8>(4>2)+5

Options:

1)32

2)18

3)16

4) 11
Correct Answer: 32
Candidate Answer: 32

Question 15.If 5 * 3 =19 and 8 * 5 =49, then what should 6 * 4 be?

gfE5*3 =19 3R 8 * 5=49, A 6 * 4 T ST ALY ?

Options:
1) 24

2)28
3)18

4) 16
Correct Answer: 28
Candidate Answer: 28

Question 16.Select the missing number from the given responses.

Frafeifad wed o e srgepd o man €, TS ve wa e 21 3y MY faebed] o 3 39 He areies a7 & RIM W Hel 3t Ao [dfEy]

24 20 36
15 11 18
55 40 ?

Options:

1)45

2)65

3)70

4) 80

Correct Answer: 65
Candidate Answer: [ NOT ANSWERED ]

Question 17.A man walks 7 km towards south and turns to the left. After walking 5 km, he turns to the right and walks 7 km. In which direction is he now from the starting point?
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Top 317eHY 7 1351 <feior Bt 3R 71T & 3R 918 g3 STrat 1 5 o A, Ter & 1e a8 &t gear € 3R 7 5. Terar 1 37 a8 wRfAie fg A fha fen § &
Options:
1) West
ufesy
2) South
Efaror
3) South-East
aferor.qd
4) North-East
IR
Correct Answer: South-East
gfeior-qd
Candidate Answer: South-East

aferor-qd

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement 1: When water is cooled, it turns into ice.

Statement 2: When water is heated, it turns into steam.

Conclusion I: Water is a solid.

Conclusion II: Water is a gas.

FrafefEd wed & v a1 < gade & T 2, fSraes 3mY & fses/Ar=aarg, 1 31R 11 fsret T &1 3nmues! faaR o<1 € 3 aored wed @ a1e a8 amr=a: ord qeat it wdta grar &
et Aot T 2 o fET M0 garied & I -1 AT U I T8 fsps/amadT fbrar ot gear g 2

qoRIe | 19 U SUST 81T & a9 dg gt B g&cf SITaT 2l

oA 2 : TG U Y TRA AT STl & Y a8 W19 N Feet ST 21

fivig 1 . STA eI

fofg2 . @t Rl

Options:

1) Only Conclusion I follows

et fispy 1 T8t 21

2) Only Conclusion II follows

et Fsps 11 TET R

3) Both I and II follow
e 1 31K 1 31 wEr

4) Neither I nor II follows
TR AT 1 3iRTSG nTR R

Correct Answer: Neither I nor II follows

T e 1 SiRTE 1 TE 8

Candidate Answer: Only Conclusion II follows

PBact e 11 TEt 81

Question 19.What is total number of triangles in the given figure?

T @ € 3t ¥ Pt e fHraproT € 2

N ,r)_

N\ |/
/ N,

D N
Options:
1) 16
2)32
3) 40
4) 12

Correct Answer: 16
Candidate Answer: 16

Question 20.Identify the diagram that best represents the relationship among classes given below
Men, Rodents and living beings

Ig 3R AT S A g 77 i 3 e Trey B FE e w21
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Options:
1)

A
|

2)

™\
-,\ .
J

TN
\.

3)

Dl

/1 £\ N
|\

4

—~
st

M“‘(

.\
N

Correct Answer:

|

/1 £\ N
OV

NI

—

Candidate Answer:

—

£

/1 £\ N
OV
N

NI

Question 21.Which answer figure will complete the pattern in the question figure?

P ITR- 3BT F-3TGt &b HfAwT Bl T BT 2

T 9

V7a

?

Options:
1)
2)
Fal nY
AN ¥4
D) e
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3)

4

RS

Correct Answer:

87

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

Q< IR phaAt H A 37 3BT B gAY S weT angpfa fAfga 21

&

Options:

Sl

2)

3)
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4

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened

TR 9T JPTadl # o5 ITTHR BT Bl HISH Bl qlT B P d1G I8 T Ia¥ AP oI fearg < 2

S a - . 1
1 1
>/ I I
R 1 I
N I o} |
LY (o] o
Options:
1
O O
&)
O O
2)
O
( o) ) |
o) )
O
O O l
3)
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O O
O ®)
4)
o © Q
O
O O
Correct Answer:
O
Q
Q
(0]
O
Candidate Answer
O
O
Q
[0) |
Q
oo {

Question 24.If a mirror is placed on the line MN, then which of the answer figure is the right image?

TfE T T BT MN IET TR &7 SATQ a1 § T IR 3Mepieral § I Bt 31mepfa wed 3mephad o1 wét ufefar gt 2

M
/
o /
- -
L
4
y
4
; s
4
N
Options:
1
2)
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3)

4

Correct Answer:

Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix IT are numbered from 5 to 9. A from these
matrices can be represented first by its row and next by its column. e.g. N can be represented by 01, 14 etc. and A can be represented by 55, 69, etc. You have to identify the set for the

word ‘GOOD’.

Frfef@a sed o faeped # T 7o Fear-ayg, 31arT & & anf grr &Rif Mo €, S fob i fag g < smmegel § €1 stredg 1% wanT 3R dfery Bl wear 0 A 4 qeb TS R, 3R AR 11 5
J 9 qF, 37 TR A U 38R P Uga) 39! Ufary 3R a1 § TIRT HAT gRT G2IfaT 517 AT 81 3aTeR0T 3 fAg 'N' Y 04, 14 371f& GRT G211 ST [ehdT & T2 A" B 55, 69 37 GRT
FRATIT ST W §1 3P 4T §Y 2ea 'GOOD' & foiT AWg BT TgaHT 31

Matrix-1 Matrix-11

of 1 2 3| 4 5 6| 7| 8 9
0f Bl N[ G| Ll D 5 A I| K| O] R
1 G| L D| B N 6 I| K| Of R| A
2| Dl B| N| G| L 7] K| O R| A 1
3] Nl G| L| D| B 8 Of R A 1| K
4 Ll D[ Bl N| G 9 R| A I| K| O

Options:

1) 02, 58, 68, 04
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2) 44, 99, 76, 20
3)31,67,76,22

4) 33,76, 86, 41
Correct Answer: 44, 99, 76, 20
Candidate Answer: 44, 99, 76, 20

Question 26.Among the following States, has the lowest birth rate in India.

HRa ¥ fFAmfafad e § F 59 7o § SH-R Aan 8 2
Options:

1) Kerala

BYA

2) Uttar Pradesh

IR &

3) Bihar

faer

4) West Bengal

gfegw S

Correct Answer: Kerala

BT

Candidate Answer: Kerala

B

Question 27.The Secretariat of SAARC is set up at

AT BT AfTaTeTd Bgl (2 & 2
Options:

1) Washington

gifelme

2) Kathmandu

PISATE

3) Hague

kBl

4) New Delhi

7 et

Correct Answer: Kathmandu
PISATE

Candidate Answer: Kathmandu
PBISHIG

]

Question 28.The outermost range of Himalays is called

TemTeTa & e aTedl udd ot B A e 2
Options:

1) Kali

Earil

2) Shiwaliks

ferarfeies

3) Dehradun

g

4) Kumaon

Correct Answer: Shiwaliks
ferarfeies
Candidate Answer: [ NOT ANSWERED ]

Question 29.Who is generally considered to be the father of the Indian Renaissance?

HIHIA: b HRATA GASTITROT &7 STep HIAT STl 8 ?
Options:

1) Rabindranath Tagore

REEEICE G

2) Raja Rammohan Roy

REINELIEERC]

3) Mahatma Phule
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TR ool
4) M.G. Ranade
TH. ST AT
Correct Answer: Raja Rammohan Roy
REINELIEERC]
Candidate Answer: Raja Rammohan Roy

TSI IAHHEA I

Question 30.The longest river of peninsular India is

TG YR T Gad ot 7 i T & 2
Options:

1) Narmada

er

2) Godavari

TRt

3) Mahanadi

HETT

4) Cauvery
PR

Correct Answer: Godavari

TeTaRt

Candidate Answer: Godavari

Terasy

Question 31. gives hardness to stainless steel.

FAfefea # ¥ fosad Ao el # BoRdT 31T & 2
Options:

1) Zinc

i

2) Lead

Gik

3) Carbon

BT

4) Tin

e

Correct Answer: Carbon

BT

Candidate Answer: Carbon

PBIET

Question 32.Which of the following is responsible for transport of food and other substances in plants?

Fafefaa & 3 e ol @ weref 3R s el FragT arar g 2
Options:

1) Xylem

EIEGLY

2) Phloem

TRAIYH (FIVATE)
3) Chloroplast
FARTARE

4) None of these

ST A BIE Tl

Correct Answer: Phloem
WAICH (ATATE)

Candidate Answer: Xylem
Siigerd

Question 33.The washing machine works on the principle of

FUS U Bl 7T fom g W ol el 2 2
Options:

1) Dialysis

37OTET

2) Diffusion

faror
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3) Reverse osmosis
3chH URTEI0T
4) Centrifugation

BB

Correct Answer: Centrifugation

Candidate Answer: [ NOT ANSWERED ]

Question 34.Which is not an external storage device?

Fafafed # 4 & aTed TR fearsy (are YUsRT a) T8l 8 2
Options:

1) CD-ROM

qE -

2) DVD-ROM

garer -

3) Pen Drive

o e

4) RAM

w

Correct Answer: RAM
)

Candidate Answer: RAM
e

Question 35.Which of the following is the correct description of the term sex-ratio as used in the context of the census of population?

ST Y STTOAT & He § ' ffT 1gaTa ! 21 o1 e sref a8 2
Options:

1) Number of males per 1000 females.

1000 oY o= gou BF H&ar

2) Number of females per 1000 males.

1000 GoST R Afgeaif & e

3) Number of females per 100 males.

100 Y&ST R Afget3il bl dwar

4) Number of females in a sample of 1000 persons.

1000 @farat & wfdesf § mfgarsn b gwar

Correct Answer: Number of females per 1000 males.
1000 GE8T TR AfgeATsT bl e
Candidate Answer: Number of females per 1000 males.

1000 G&§T R AfeTT bl e

Question 36.The atomic power station in Rajasthan is situated at:

TSR/ % "ORATO] T v el e & 2
Options:

1) Pokhran

qrERT

2) Suratgarh

RdTE

3) Rawatbhata

NEGLIE]

4) Chittorgarh

ferditgTs

Correct Answer: Rawatbhata
NEGLIE]

Candidate Answer: Rawatbhata
NEGLIE]

Question 37.The Sahitya Akademi Awards are given for best writings in how many Indian languages?

fepat MIReT T WTeT3il o FaTa o o fofg ATfec STehTaHT REPR T 511d & 2

Options:
112

2)15

3)20
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Correct Answer: 24
Candidate Answer: 24

Question 38.Right to Privacy comes under

AT 1 AfTBR fHads 3nftT 3mar @ 2
Options:

1) Article 19

IFIBS 19

2) Atticle 20

37 20

3) Article 21

BT 21

4) Article 18

3TIB 18

Correct Answer: Article 21
g 21

Candidate Answer: [ NOT ANSWERED ]

Question 39.The foreign traveller who visited India during the reign of Shahjahan was

ATESTET I 2T BTt W I AT fadeft At WRa 31w & 2
Options:

1) Thomas Roe

AT

2) William Hawkins

faferem gife=T

3) Ibn Batuta

ST E

4) Manucci

EECEa

Correct Answer: Manucci
Candidate Answer: Thomas Roe
ATAF A

Question 40.The GST (Goods and Services Tax), recently passed by Government will be levied on which of the following products?

IRBR GRT &I & N U a1 7 Sit. 1. 2. et (A1t 31K dar ) fmfafad ® 9 37 3cmel R @ smem 2

Options:
1) Petroleum Crude
YgIferaw saRgd

2) Tobacco

GESICA
3) Natural Gas

i

4) Aviation Turbine Fuel
T e e
Correct Answer: Tobacco
qHTR

Candidate Answer: Tobacco

RiSIES

Question 41.Who was elected the Prime Minister of Nepal recently?

BT & H BT Tl & T H3l g 71Q ?
Options:

1) Keshav Kumar Budhathoki

P2T AR GBTDPT

2) Khadga Prasad Sharma Koli

TSI TG MHT Bl

3) Sushil Koirala

BHIGEIENGH

4) Pushpakamal Dahal 'Prachanda’

T BH alglel HeIvs'

Correct Answer: Pushpakamal Dahal 'Prachanda’
ST BHe Slgle FeIvs’
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Tt H aTeleT HeIvs’

Question 42.Which lobe of human brain is associated with hearing?

HTG AfE&Tsp &1 B Tt uTfet sraor J Tafod & 2
Options:

1) Frontal lobe

AT el

2) Parietal lobe

fifoa wife

3) Temporal lobe

o Tfe

4) Occipital lobe

Correct Answer: Temporal lobe

i ufe

Candidate Answer: [ NOT ANSWERED ]

Question 43.Which of the following is not soluble in water?

FAfefEa ¥ 3w 5ier § gerefa 7€ € 2
Options:

1) Lead sulphate

s FRhe

2) Zinc sulphate

i aedhe

3) Potassium sulphate

I Hetbe

4) Sodium sulphate

HfeaH Tetpe

Correct Answer: Lead sulphate

EERGtrS
Candidate Answer: [ NOT ANSWERED ]

Question 44.Activated Charcoal is used to remove colouring matter from pure substances by

Frfafed # 3 feads GRT AfhT BIoBIIAT BT FANT PBd §T UG ddl H 1 o1 yareif Pl g¥ fbar sTrar @ ?
Options:

1) Bleaching

fats

2) Oxidation

ERERE]

3) Adsorption

s7fereieoT

4) Reduction

AT

Correct Answer: Adsorption

s7ferefeor
Candidate Answer: [ NOT ANSWERED ]

Question 45.Chernobyl disaster is the result of pollution by

TAIfee HeTfduaT febaes HgwoT &1 IRUTH & 2
Options:

1) Oil spill

ad foama

2) Acid rain

377 guf

3) Carbon dioxide

P SR TATES

4) Radioactive waste

gt sruferse

Correct Answer: Radioactive waste

famt srafere
Candidate Answer: [ NOT ANSWERED ]

Question 46.Which of the following caused radioactive pollution along the coast of Kerala?
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P e R ISR FguoT Ffafed 3 foq SRoT I g3m ?

Options:

1) Plutonium
LSralEeL]

2) Zinc
ST

3) Thorium
AR

4) Radium
Afsaw

Correct Answer: Thorium

Blite)
Candidate Answer: [ NOT ANSWERED ]

Question 47.In mammals, an important role of excretion is played by

FTUTRAT H 3 BT Vb Ag QU] BT fAFT@{ed H 3 P AT 37aad BRaT g ?
Options:

1) Large intestine

gt 3fret

2) Kidneys

T (@)

3) Lungs

k)

4) Liver

e (e

Correct Answer: Kidneys
T (qP)

Candidate Answer: Kidneys

T ()
Question 48.The second Green Revolution aims at increasing agricultural output to promote

Teciar aRa 1= @1 380a, FAmfafed # & b HiY 3cre 1 gig F T 8 2
Options:

1) Availability of easy credit to big farmers

2) Co-operative farming

FEBRT Al

3) Inclusive growth

yfdve gfg

4) Development of rural sector

TTHIOT &7 BT feiebT

Correct Answer: Inclusive growth

srafde i
Candidate Answer: [ NOT ANSWERED ]

Question 49.Which of the following causes rainfall during winters in the north-western part of India?

MIRA & IR - gfeet wiT & efdere § FAmfafEd § 9 fa sror g auf gt € 2
Options:

1) Western disturbances

gfegt faainT

2) Cyclonic depression

EEZIGIEECAC]

3) Southwest monsoon

<fayor afesHt AT

4) Retreating monsoon

et A

Correct Answer: Western disturbances

gfegt fagir
Candidate Answer: [ NOT ANSWERED ]

Question 50.The 'Blue Water Policy' was introduced by the Portugese leader

P F YT AT 7 ' & T Ui e b ot 2
Options:
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1) Franscisco-de-Almeida
2) Alfonso de Albuquerque
AT 5T Tegi

3) Francis Caron

Hif 3

4) Francis Martin

ife HIfeT
Correct Answer: Franscisco-de-Almeida
Candidate Answer: [ NOT ANSWERED ]

Question 51.If the sum of a number and its reciprocal be 2, then the number is

IfE U HEAT 3R 3 HhH BT AN 2 B, A1 I8 FAT febat st ?

Options:
10

3)-1

4)2
Correct Answer: |

Candidate Answer: 1

Question 52.The area of a rectangle in 60 cm? and its perimeter is 34 cm, then the length of the diagonal is

T 3T BT &%a 60 arf A7, B 3R 3961 aRATd 34 A1, 21 @Y 39 ol Bt o fasat gnt 2
Options:

1) 17cm

17 9.7

2) llem

JAk:R:iR

3) 15cm

15 3.4,

4) 13cm

13 9L

Correct Answer: 13cm
13 9.4,

Candidate Answer: 13cm

13 At

Question 53.A cloth merchant has announced 25% rebate in prices. If one needs to have a rebate of X 40, then how many metres of cloth costing T 32 per metre he should purchase.

e HUST-SATIRY 7 39T HIHAT H 25% B P BIT0T B, TAFHR Afe; il Bl X 40 BT B 1 21, a1 39 32 Uidl HIeR dTet U b fdse Wi BusT BRISAT 81T ?
Options:

1) 6m

6.

2) 5m

5.

3) 10m

10 7.

4) Tm

7

Correct Answer: Sm

5.

Candidate Answer: 5m

5.

Question 54.A profit of Rs. 960 is divided between A and B in the ratio 1/3:1/2. The difference of their profit is :

Rs. 960 % T BT A TT B § 1/3:1/5 3 31Tel & dieT 17T &1 376 oY BT 3= &I €117 2
Options:
1) Rs.120

2) Rs.160
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3)Rs.180

4) Rs.240
Correct Answer: Rs.240
Candidate Answer: Rs.160

Question 55.The average monthly salary of 19 members of a group is Rs. 16000. If one more members whose monthly salary is Rs. 20000 has joined the group, then the average
salary of the group is

19 | 3 T U BT 31 AT da Rs. 16000 81 A A1 39 T | Rs. 20000 HIHb I AT Teb 31T TR HT A 1 ST, AT 39 U &1 A1 HIfHeb da e a1 STTea ?

Options:
1) Rs.18250

2) Rs.16200
3) Rs.18000

4) Rs.16250
Correct Answer: Rs.16200
Candidate Answer: Rs.16200

Question 56.A T.V was sold at a profit of 5% If it had been sold at a profit of 10% , the profit would have been Rs. 1000 more. What is its cost price ?

T . Y. 5% WM IR 99T 771 AT G 10% T TR T STl af Rs. 1000 T {6 @M 2111 39T 36d-ed TSy 2

Options:
1) Rs.20000

2) Rs.5000
3) Rs.10000

4) Rs.15000
Correct Answer: Rs.20000
Candidate Answer: Rs.20000

Question 57.The price of an article is decreased by 10%. To restore it to its former value, the new price must be increased by :

Teell o b e | 10% & AT B TR 21 4 R Jed WA b e 7 5ot A Tt g et sl 2
Options:
D)

9o,

19"
2) 10%
3)11%
4)

1110/
g%

Correct Answer:

111‘V
g%

Candidate Answer:

111°/
g

Question 58.A moving train passes a platform 50m long in 14 seconds and a lamp post in 10 seconds. The speed of the train (in km/h) is :

T T g YS! Tohait 50 FIeR @RI Wie TTH Bl 14 HebUs H 37K Uep fasTell & TRT BT 10 YhUs § UR &l 81 YeTe! i aret (fd.Hl./aen H e g 2

Options:
1) 24

2)36
3)40

4) 45
Correct Answer: 45
Candidate Answer: 45
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Question 59.1f 2+ 1/x2= 2, then the value 099/

e x2 + 1/x2 =28, dl x - 1/x T HH G187 ?
Options:

1)-2

2)0

3)1

4)-1
Correct Answer: 0

Candidate Answer: 0

Question 60.

1
If pq (p + q) = 1,Then the valueof W —pd®—qiisequalto

A& pq (0 +q) =13’T,Fﬂ#—p3—q3ﬂﬂlﬂ'wﬁm

Options:
11

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 3

Question 61.A chord of length 16 cm is drawn in a circle of radius 10 cm. The distance of the chord from the centre of the circle is

16 A7}, oTwt Uep SitaT Y 10 .. 3o arel 9o § Sier ST €1 99 F B J Sirar 6 gt garey 2
Options:

1) 8cm

8 AL

2) 6cm

63

3) 4cm

43

4) 12cm

1234,

Correct Answer: 6cm

6 I

Candidate Answer: 6cm

6 A

Question 62.An angle in a semicircle is

ot srefea ® Yot fsmT 8T 2

Options:
1) 45°

2) 60°
3)90°

4) 120°
Correct Answer: 90°
Candidate Answer: 90°

Question 63.If x = a cosO+ b sin® and y = b cos0- a sin6, then X2+ y2 is equal to

L x = a cosd+ b sind 3R y =b cosh- a sind &Y, A¥ x2 + y2 T 7 T &I ?
Options:
1) ab

2) a+b?
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3) a2-b?

4)1
Correct Answer: a>+b?

Candidate Answer: a2+b?

Question 64.A can do a work in 12 days while B can do it in 15 days. They undertake to complete it together for Rs. 450. what will be the share of A in this amount of money ?

A TP B BT 12 13T # q1 R T & STafb B 3 15 T H Q1 9 HobaT 31 I 3 T A1 AT Rs. 450 W I BT AR 81 T 81 $H YR H A P e fderm arm 2

Options:
1) Rs.200

2) Rs.240
3) Rs.250

4) Rs.300
Correct Answer: Rs.250
Candidate Answer: Rs.250

Question 65.1f x = \/2+1, then the value of x*-1/x*is

g x = V2+1 &, a1 x*-1/x* &1 7 foaar 8 2
Options:

1) 8V2

2) 182

3)6\2

4) 2442
Correct Answer: 242
Candidate Answer: 242

Question 66.1f 9x2 + 16y2 =60 and 3x + 4y = 6, then the value of xy is

& 9x2 + 16y% = 60 31K 3x + 4y = 6 BT, A¥ xy BT HF T &1 2
Options:

1)-1

2)1

3)-2

4)2
Correct Answer: -1

Candidate Answer: -1

Question 67.1f in AABC, DE || BC, AB = 7.5cm, BD = 6cm and DE = 2cm, then the length of BC in cm is :

gf& AABC, DE ||BC, AB = 7.59.H},, BD = 63.H). 31k DE = 2% #. 81, a BC P! 7r1s J.H. o =1 81t 2
Options:

1)6

2)8

3)10

4) 10.5
Correct Answer: 10
Candidate Answer: 10

Question 68.Suppose that the medians BD, CE and AF of a triangle ABC meet at G. Then AG: GF is

A #ifoig fas et ABC fAepioT 1 ATfe@r¢ BD, CE 3R AF fog G W fAed! €1 dF AG:GF @1 81 ?
Options:

1)1:2

2)2:1

3)1:3

4)2:3

Correct Answer: 2:1

Candidate Answer: 2:1
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Question 69.
cos@ cos@

=4
If 1 —sin6 " 1+ sind then

the value of 8 (0<6<90°) is

ofy 0SB 4 €06 = 4 Ar 90°< 6 < 90°) F AT AT ?

1- siné ' 1+ sin@

Options:
1) 60°

2) 45°
3)30°

4) 35°
Correct Answer: 60°
Candidate Answer: 60°

Question 70.A sum of Rs. 2000 amounts to Rs. 4000 in two years at compound interest. In how many years does the same amount becomes Rs. 8000.

Rs. 2000 &7 IF Tehqfg TS TR 2 I & Rs. 4000 &Y ST &1 I8 0fr fba auf # Rs. 8000 &1 STQHt 2

Options:
12

2)4
3)6

4)8
Correct Answer: 4
Candidate Answer: 6

Question 71.Two ships are sailing in the sea on the two sides of a light house. The angle of elevation of the top of the light house as observed from the two ships are 30° and 45°
respectively. If the light house is 100m high, the distance between the two ships is :(take V3=1.73)

FY= W & UTd Tprer iH & AF1 3R I 38 &1 A1 9l I ST TR TP1RI T P 2T P 3T BI0T LR 30° 3R 45° €1 IS T WM 100 HIeX Ham 8,1 a1 dial & ate bl gt
FaTEY 2 (IE A g¥ fF V3=1.73)
Options:

1) 173m

173 7.

2) 200m

200 7.

3)273m

273 W,

4) 300m

3007

Correct Answer: 273m

273 W,

Candidate Answer: 273m
273 7.

Question 72.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

frafafEa smgpfa # faet ot § adf 2000 F a9 2004 T wfa v ol gu 31k 3ol g7 BT & dwear (TR # ) gRufdt 7€ &1 377 o1 3z o 7oAt & 3 &g 2
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12 ® Admitted

8 passedout
T 10
Number
of g
Students

(1000)
6
4
2
2000 2001 2002 2003 2004

Ye¥ e
The percent increase in the number of students admitted in the year 2003 over that in 2001 is

T 2001 Y g ¥ a 2003 W el gT BT BT AT ¥ g€ wfaerd gfg a2 2

Options:
1) 1333

2)333
3)403

4) 66.7
Correct Answer: 33.3
Candidate Answer: 33.3

Question 73.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

FfafE smgfa & fiset wrerst 5 af 2000 F avf 2004 Te TfT o wdlf gg 31k 3o g0 BT B Fwar (@R & ) @i 7€ €1 3mepfa o1 3 o wedll & 3w dfSig 2

B Admitted

B passedout

2000 2001 200. 2004

2 Year i}
During 2000 to 2003, the ratio of the total number fo the students passed out to the total number of students admitted is

T 2000 ¥ 2003 H Ml §T BT T ot AT 31 JefTof gU BTAT BY B HGAT BT 3T T bIoTT 2

Options:
1) 17/23
2) 17/6
3) 11/23
4)5/7

Correct Answer: 5/7

Candidate Answer: 5/7

Question 74.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

frafafEa sngfa § faet sreret ¥ adf 2000 F av 2004 T wfa aw ol gu 3R Feiiof gg BTa B Twear (TR § ) it 7€ &1 317epd o1 3nezee o weAt & 3w Ay 2
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12 ® Admitted

o passedout
T 10

Number
of g

Students

(1000)

2000 2001 2002 2003 2004

Year
In which of the two years, the pass percentage of students was between 60 to 70 ?

P A1 a8t § BT B1 3A0f ufderd 60 I 70 F &t ot 2
Options:

1) 2000 and 2001

2000 31R 2001

2) 2003 and 2004

2003 37 2004

3) 2001 and 2002

2001 37% 2002

4) none of these

TH § B T8I

Correct Answer: 2000 and 2001
2000 37 2001

Candidate Answer: 2000 and 2001
2000 31R 2001

Question 75.The following figure shows the number of students (in thousands) admitted and passed out per year in a college during years 2000 to 2004. study the figure and answer
the questions.

FfefEa smgfa it wret & axf 2000 F af 2004 T Tfer avf ol gg 3R Iefof gu BT B T (gt # ) A 7 21 37T BT 3rezre R et & 3w AfSig 2

12 ® Admitted

u passedout

Number
of g

Students

(1000)

2000 2001 2002 2003 2004

Yo
The ratio of the number of students admitted in the year 2002 to the average of the number of students passed out in the years 2003 and 2004. is

T 2002 ¥ ¥elf §T BT & FwAT 3R avf 2003 FT 2004 H Iiof gT BTN BT HEAT P 3iFd BT 37T IaATST 2

Options:
1)7:8

2) 8:9
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3)9:8

4) 8.7
Correct Answer: 8:9
Candidate Answer: 8:9

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button corresponding to it.

REVILE

Options:

1) REVIVE

2) REVIEW

3) ABUSE

4) REVEAL

Correct Answer: ABUSE

Candidate Answer: REVIEW

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding to it.

SQUANDER

Options:

1) SPEND

2) REDUCE

3) SLANDER

4) SKIMP

Correct Answer: SKIMP

Candidate Answer: REDUCE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Sanctaries

2) Sanctauries

3) Santuaries

4) Sanctuaries

Correct Answer: Sanctuaries

Candidate Answer: Sanctuaries

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the “No error” option.

He had already sent me message (A) / that his arrival (B) / was scheduled for Thursday (C) / No error (D)
Options:

DA

2)B

3)C

4D

Correct Answer: A

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the “No error” option.

Science and technology and (A) / their fallouts do not (B) / complete human culture (C) / No error (D)

Options:

1HA

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button corresponding to it. If the
sentence is free from error, click the “No error” option.

The angry bird flap (A) / her wings, flies a short (B) / distance and returns. (C) / No error (D)
Options:

DA

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: B
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Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the correct
alternative and click the button corresponding to it.

The clock has for want of winding.
Options:

1) run down

2) run short

3) run past

4) run up

Correct Answer: run down

Candidate Answer: run down

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the correct
alternative and click the button corresponding to it.

Few people know that flowers use texturesto  different kinds of insects.
Options:

1) signal

2) feel

3) attract

4) distract

Correct Answer: attract

Candidate Answer: attract

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question, choose the correct
alternative and click the button corresponding to it.

They abandoned their comrades the wolves.
Options:

1) by

2) between

3)on

4) among

Correct Answer: among

Candidate Answer: between

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the
button corresponding to it.

For keeps

Options:

1) Himself

2) Away

3) Forever

4) Hid

Correct Answer: Forever

Candidate Answer: Forever

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the
button corresponding to it.

Pale into insignificance

Options:

1) Seemed less important

2) Was less exciting

3) Was less hectic

4) Was dull and pale

Correct Answer: Seemed less important

Candidate Answer: Seemed less important

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase and click the
button corresponding to it.

With one voice
Options:

1) By one man

2) By one community
3) Unanimously

4) In disharmony

Correct Answer: Unanimously

Candidate Answer: Unanimously

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=Mjk=&appid=1a4fff78943b24af40c79deccf09bb87 21/09/16, 9:26 PM
Page 25 of 28

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Downloaded from www.qmaths.in

Drug which causes people to sleep easily
Options:

1) Poppy

2) Soporific

3) Beguile

4) Pedant

Correct Answer: Soporific

Candidate Answer: Soporific

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The branch of philosophy concerned with the study of the principles of beauty, especially in art
Options:

1) Artistic

2) Aesthetics

3) Ethics

4) Metaphysics

Correct Answer: Aesthetics

Candidate Answer: Artistic

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The study of skin

Options:

1) Dermatology

2) Dermatoglyphics

3) Stratigraphy

4) Oncology

Correct Answer: Dermatology
Candidate Answer: Dermatology

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative and
click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

She has that rare character - the ability to listen to people.
Options:

1) rare ear

2) rare characteristic

3) rare sense

4) No improvement

Correct Answer: No improvement

Candidate Answer: rare characteristic

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative and
click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

Both of them have not apologized yet.
Options:

1) Neither of them has

2) Any of them have

3) None of the two

4) No improvement

Correct Answer: Neither of them has

Candidate Answer: Neither of them has

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative and
click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The greater the demand, higher the price.
Options:

1) the high

2) a higher

3) the higher

4) No improvement

Correct Answer: the higher

Candidate Answer: the higher

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative and
click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

His appointment as coach is yet another feather in his wing,.

Options:
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2) badge in his hat
3) feather in his cap
4) No improvement

Correct Answer: feather in his cap

Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct alternative and
click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

The majority of the rain-fed Indian rivers, either dry up, or become trickle after the monsoon.

Options:

1) the trickle

2) a trickle

3) an trickle

4) No improvement
Correct Answer: a trickle

Candidate Answer: No improvement

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the button
corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to change all the time.
But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each of us, a diet that will fight disease,
increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The foods we like the most will be the most healthy for
us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to assess our own
inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic low-fat diet. You'll eat foods with
just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what foods you should eat at any given time, for any
given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

‘What are scientists doing?

Options:

1) Racing in labs and research centres around the world
2) Asking us to start dieting

3) Creating the perfect diet for us

4) Try and make us taller

Correct Answer: Creating the perfect diet for us

Candidate Answer: Creating the perfect diet for us

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the button
corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to change all the time.
But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each of us, a diet that will fight disease,
increase longevity, boost physical and mental performance, and taste great to boot. As food scientist ].Bruce German says, "The foods we like the most will be the most healthy for
us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to assess our own
inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic low-fat diet. You'll eat foods with
just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what foods you should eat at any given time, for any
given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

‘What does J. Bruce German say?

Options:

1) The food we like is not healthy for us

2) The food we like is the healthiest one for us

3) The most healthy food should be liked by us

4) Food scientists like healthy food

Correct Answer: The food we like is the healthiest one for us

Candidate Answer: The food we like is the healthiest one for us

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the button
corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to change all the time.
But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each of us, a diet that will fight disease,
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increase longevity, boost physical and mentaDelQrWQLgﬁgegtgoiugomcieWsww G%Q,%%dc&ﬁ like the most will be the most healthy for
us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to assess our own
inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic low-fat diet. You'll eat foods with
just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what foods you should eat at any given time, for any
given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

‘What is genomics?

Options:

1) The science which describes about maps

2) The science which describes an individual

3) The science which deals with years

4) The science that maps and describes an individual's genetic code

Correct Answer: The science that maps and describes an individual's genetic code

Candidate Answer: The science that maps and describes an individual's genetic code

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the button
corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to change all the time.
But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each of us, a diet that will fight disease,
increase longevity, boost physical and mental performance, and taste great to boot. As food scientist ].Bruce German says, "The foods we like the most will be the most healthy for
us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to assess our own
inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic low-fat diet. You'll eat foods with
just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what foods you should eat at any given time, for any
given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

‘Why won't a common diet fit everybody?

Options:

1) Because different people eat different food

2) Because their genes are different

3) Since they differ in genetics and metabolism

4) Because of their different moods

Correct Answer: Since they differ in genetics and metabolism

Candidate Answer: Since they differ in genetics and metabolism

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and click the button
corresponding to it.

It's nothing short of a revolution in how we eat, and it's getting closer every day. Yes, a lot of people are obese, and yes, the definition of "healthy eating" seems to change all the time.
But in labs and research centres around the world, scientists are racing to match our genes and our taste buds, creating the perfect diet for each of us, a diet that will fight disease,
increase longevity, boost physical and mental performance, and taste great to boot. As food scientist J.Bruce German says, "The foods we like the most will be the most healthy for
us."

Is that going to be a great day, or what?

All this will come to pass, thanks to genomics, the science that maps and describes an individual's genetic code. In the future, personalized DNA chips will allow us to assess our own
inherited predispositions for certain diseases, then adjust our diets accordingly. So, if you're at risk for heart disease, you won't just go on a generic low-fat diet. You'll eat foods with
just the right amount and type of fat that's best for you. You'll even be able to track your metabolism day-to-day to determine what foods you should eat at any given time, for any
given activity. "Since people differ in their genetics and metabolism, one diet won't fit all," says German.

As complex as all this sounds, it could turn out to be relatively simple.

‘What will be possible in the future?

Options:

1) Personalised DNA chips for people to assess their own inherited predispositions

2) You are at great risk for heart disease

3) You will not be able to determine what food you should eat

4) You will be unable to adjust your diet

Correct Answer: Personalised DNA chips for people to assess their own inherited predispositions

Candidate Answer: Personalised DNA chips for people to assess their own inherited predispositions
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